17

455
il
P
(N
oy

=

-

/

i
| L
< )
-
s T yeSyER—_—

SNHE RE 7IS 2t =2l
7|7 E0M = Ol A2 2 CHAI= 520t 55 7 |=0|

2 FL22 B0{X|= 2|5 St 2= 2102t HEYENR.

=72 eHito]| Cifeh =X et CiH| = S ROkX| 2 53],

et X5 Argot= T 2|70l 2fs B d5k=

F2ehdof Chigt ol = TR gfL|Ch

O H=E M2=2h0| to XtM[o] ZotE =S 2R 27



HERENEEEREE)

2019.12.05 agpg|Eg
KCDC

ME0IMXE SI2301? HI=EHI?!

LD YUMo B AT U Shte

100 O|4f| EE3{2 20f| OfsH MLI| A el B,

23t 40~505 HES| 2oj| 23 A|ZF L EE|0f

WSt ANl 242 UBLCY

O | 23H A|2F 20| W} L ST LI HQ|2 Jhe T 2210)
X[ E|T, T2 FE|0|| FEE W CIE H2|2 0[S okx| 23
LEE TRo| 2=0t AFSSIo] SHAMS YUY £l 2H0| . 3/7

2019.12.05 G Agpa|Ey
KCDC

[ =]
Z=Q AT UM BHE MA AX

= =y %l— a0 o —
20| LOjLHH, 7S S0ILT 28 = Siols 395 UsLCh
2ol HE2 SO0tEY = oL} OSIX RS HR| &4 =

2~3= S U 5= UL 2{At FoP L BRELC 4/7




HERENEEEREE)

2019.12.05

agag|=gR
KCDC

E=SALE 717]

HE=E L ESF= AMESt=s 50|12 =1L X220

A =2 2

|=0| UL

S3| IS0} oft Loofx} Bl - R0t J2| 1 OFETIE 4T U=

o
(= T Pt

e IS S o FREHHE O 2210 Ho{E = AL

\
g

l,

J

—

2019.12.05

=g
A0t 7171

ShtHER

E AH20ll Fo7t Eewtct 317

SRl
KCDC

iy
LES 4 U| Ti20 25 £ A3 opte 375,

E 2l0j| O[S 20 YAIZE ALRSIX| QHES F=olHLICL,
|1 70ED1R| 2217 He SHo| B2 242+ 04
X|&= 0 2 I|R0)| =SS AP X 2s4S 2 Lict
papA Tisoll HEE x| A= 2 20l ALSSHEAMIR!
SIHR HaloM ALSE AP X23kato| 2(F0| JUSL|
1m O 2|8 53 AFSSIFEAID, IEJ} =S5
Hojoll= EE0| 2M2 YalEy el

Xt ALBBHS ADLE 7|2|8 S4t M2ehs
Fo|pt LRRL|Ct L ESS Clajof| 22|31 AFRSHK| U
AOLEEo| SHe YUE HEL QHHEX So| Z40|

LIENE == UL | A2 AFES Fe|sHFMIR !

6/7






